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CHAPTER NAME : - COLONIALISM AND THE CITY .
TOPIC : - INDUSTRIALIZATION .
Many new cities with industrialization emerged
Leeds and Manchester in Britain grew in 19t and 20" century with housing and job

Late 18" century — Calcutta , Bombay and Madras — presidency cities (Administrative )which
developed from East India company’s factories in Surat, Madras and Calcutta many smaller cities
declined , many towns manufacturing specialized goods declined , old trading ports couldn’t survive.

Machlipatnam , Surat and Seringpatnam — deurbanized during 19*" century and by early 20t century —
11 % Indians were living in cities .

Historic imperial city of Delhi became provincial in the 19" century before .
It was rebuilt as the capital of British India after 1912.
Delhi remained capital fore more than 1,000 years.

14 capital cities were found in 60 square miles on left bank of Jamuna Rivers .
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In 1639 with fort palace complex .

Lal gila and red fort made of red sand stone contained palace complex — to its west was walled city by
14 gates — big Bazaars of Chandni Chowk and Faiz Bazaar and canal down the center of Chandni
Chowk .

Jama masjid ( first with Minarets and full domes ) was largest and grandest Mosque and was highest
in city .

Dargahs ( Tomb of Sufi Saint ), Khangahs ( Sufi lodge ) and Idgahs ( open prayer hall )
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Chapter -5 civics. (Judiciary )
Answer the following questions

e Describe the hierarchy of courts .

e What s appellate system .

e What is public interest litigation (PIL ) . Explain

e You read that one of the main function of the judiciary is upholding the law and enforcing
fundamental rights : why do you think an independent judiciary is necessary to carry out this
important function ?

e  Write the structure of judiciary in India .
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